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 ېچ �ې�� را+=$

 �ې�$�$د� وQ3 -%�  اوي ځ�3ر�� N$ا د ا���
	��ن 
� او

 .ار �Sورت 
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 ولټل ې�7ر ې<ر ېور��و $ د��ر� ګل

��2 او ړد `�رت، ر%8، س .7 �Bې%=&2$ن د<رټ- ه$ا 

qلښ ېرا�$� �. 

%� ې	م ټرا
F او ��نټ-ې� د الځ�=)$
$ +��* وړدواد  .8


$  وړدواول،او ړ�$ ېرا80 ې� +8ښ� ځ+��*$��$(J

- $
د  �ېs$ا �r]$'�+� ادارو +� د %$ �8 �=)$

 .دا �$لېپ ۍ�C3و
$ د��ر� ���ن

 

��%6 د  �ېرا+=$
)� - ېو `$%? وو چړد ��ر��ن د غ

�
ا��%)��B '	)�و ��  \و ټا���
	��ن 
� د 


$  �ېو+$،ا���
	��ن -$K)$� �� 8,' Gu�2� د ا�* او

Qi�� �7رو اوګاو �� �&=M+،د  ،د `�رت،$ $� �r��S��

� د او�$ �� ���M=� د ځ���	��ن او ا���
	��ن +��*

د ���XK  �ې- ړار او د�0 لڅاو د �$ $ ��  ې $�AYم

  .�)�ر دي ې3" ې�$ $ ��
6 ې(�AY$  Qمګ

��� ��L2 وو  ې3" ېي د دړغ ��ر��ن�=)$
$ د وړدواد 

�� ې(� ېدو
Fېد 3"و ا+�و �� ا���3م �� �C3 ېچ

��� (�%)$ي X�8 ��ر�&�ن او �3ر�� دC3 8C3 د �&�� .ا'

 



 �ېر ']6ا $m را��، د ��Kا
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